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Instructions : (1)

Qsrerarayb. wiFsiudedd gampulEuder smpé sergTetliLTemfl LD
e Lamgwings Agfleisaeyb.

o sewsy aspuy oodoa wLEGW Gr@gjeugﬁj(g;i.b
< 56Ty QauspEd vwau@ss Caar@h. ULmsT aDrasne
Quanfles LweTL(RESeuD.

Check the question paper for fairness of printing, If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

GPly : uEd-I (2u0R-grageiiud), ugH-I (2Wf-ddandued) sallisal alasgrafld
el weflsaayi.

Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer hooks. '

Note :

@iy :

Note :

()
(i)

(i)
(i)

UGS - 1 (2 ffl-greureilwed) / PART - I (BIO-BOTANY)

(eHuGuekrger : 35) / (Marks : 35)

Sifley - 1 / SECTION - 1

Slmensg sdammsaeragn oL weflssaw. 8x1=8
Qsr@ésuudrar wrym eemLsaild Wsabd ghymLw oo amug
CoiiQs®ssé ML e ulananyh Gsigs erpseyb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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Qe sdiellén et e L ACH wr bl i e Darein(p LA DD,
TR AISTIN] 5o QFaband

Hrws@ih, dIb@H enep ol@&dlabl b wmymsdneE G
Spdsrgod sppisal otg afluinang ?

(1) AOAGseT wiflgne smen Gied GUoGuuiddaper. rshsd SO,
(<) W8 Gt opmin Lrsmsen oikigh @hEn GLbduuraidlaana.

(@) ursruser emign @high @ bAuUifdamar. SOO@sE oida.

(F) SLA® wppb Yrshsd <miEh Ghsh GLbEuwidamen.

Keeping in view the fluid mosaic madel for the structure of cell membrane, which
one of the following statements is correct with respect to the movement of lipids
and proteins from one lipid monolayer ta the other ?

(a) While lipids can rarely flip-flop, proteins cannot.
{b) Neither lipid nor proteins can flip-flop.
(c) While proteins can flip-flop, lipids cannot.

(d) Both lipid and proteins can flip-flop.

waraila sremiuBn eplCrl aalvear bl rgeams nrHpUUED Hepa)
eramLI{Hib.

(1) epLlymger Hesid (=) Curraflurarsd

(8) @Bl Cri semnpuinrse (m) eplGriLmge
Nitrates in the soil are canverted back inta atmospheric nitrogen by a process

called .

{a) Denitrification {b) Ammonification

{c) Nitrate assimilation (d] Nitrification
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s fddundie NugNenard sadie s,

(<=} wAuGuraion (<) o oL LT
(@) QugsGamrurdieNwun (rr) eTirellesnm

Identify the Archacbacterium.
(8) Treponema (b} Acctobacter

{¢) Methanobacterium {d) Erwinia

@@ sraursdng seasss sailofs@ph auprisIuL({ Mn Qedle) wr {Hib
< Fzons @EHeTd ghubn Gepur® wrg ?

(<) Ca el Qarar dmever WD 2idlaflsEb.

(<) Fe, Mg 2. Qaran naar gH&@L. gyemed Ca gefly.
(@) Fe, Mg wpmi Ca e Clsrer Fpmans SHRHEHD.

(/) Fe, Mg wpgibd Ca e Gardr Ameen iflsfléEsLo.

If a plant is provided with all mineral nutrients but, Mn concentration is increased,
what will be the deficiency ?

{(a) Only increases the uptake of Ca.
(b} Mn prevents the uptake of Fe, Mg but not Ca.
(c) Prevents the uptake of Fe, Mg and Ca,

({d) Mn increases the uptake of Fe, Mg and Ca.

[ Slgmlays [/ Turn over
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SfiGarr sl genml sy blaaud o widag 2iflo flaaulGar reiutLmd

B EMEL . GTEN e LpEaLILE DS,

() BugdafGuiren_@ () Ured@uiienL_(®

(@) < bGur@uia () emGulan(

Amino acid is both an acid and a base and hence it is called as -
{a) Nucleotide (b)  Polypeptide

(c) Amphoteric (d) Dipeptide

eLLLIs Qo ugldear Gurg, e sphdluie G, Heeuld amyumpu
LBESSLUMID Fleve :
(<=1) M fleve (=) S Blene (@) Gy Hene (m) G, Hevey

If mitotic division is restricted in G, phase of the cell cycle then the condition is
known as _

() M phasc (b) S phase (c) Gg phase (d) G, phase

Epgsan arsdutiselld sfwraapenn CaibQs(ss Toss.
asss stabdld aravgar Gabdub.

(i) @empauran eure@Eer Fwueur(p CsrarrLg.

(i) @iflelugurer amswdammsaa Garhmeisssmper.

(iii) s 2@Clael Canam. msosgprismer o (meursGEng.
(<) (i) whmb (i) wLHb (=) (i) b

(@) (i) bl (F) (i) oDEUD (i) Wi (ib
Consider the following statements and select the correct option,
In spring season Vascular Cambium

(i) is less active.

(ii) produces a large number of xylary elements.

(iii) forms vessels with wide cavities.

(a) (i) and (ii) only (b)  Only (i)

{e) Only ({iii) (d) (i) and (iii) only
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Epasem. UL S o ppGprads aflwner aflenaniug GEihlsHAma|D.
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() A B uwpgh C sen® pafludear afleGLragen QETeTeans DD,
i) A -Qu@dar, sfisemar o mansgdans.

(ili) B -upefleow o (haurs@dng.

(iv] C -ymiGsrara = (meurdEdlpg.

() (i) womw (i) Wi (<) (i) wopb (i) LG
(@) ) wppib ([iv) LG (F) (i) whmd (i) Wi GO

Refer to the given figure and select the correct statement.

> A

<

17

(ij A, B and C are histogen theory of shoot apex.

(ii) A gives rise to medullary rays.

(iii) B gives rise to cortex,

(iv) C gives rise to epidermis.

(a] (i) and (iii) only (b) (i) and (i) only
{c) (iii) and (iv) only (d) (i) and (iii) only

[ Slgslus / Turn over
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ey - 2 7 SECTION - 2
: L - 4%2-8
@,ﬁ?luq : ﬂmm@lumm mrew(@ aflanmamenie e iuaflsaah. s
Note:  Answer any four questious.

9. dflunér a@pré oranen 2

What 1s Virion ?

10. pamgen wadblo® uaflsaid gGaanb Gramgaea oW,

List out any two primary functions of stern.

1. Anbs ardger spandea L Quehgl, UTarsemand @nliG@Hs.

Draw a neat labelled diagram of open vascular bundle.

12. Qean Grridlwufer SeweilL sl g iuamLulsd ECrrurGsrdler e amsasr
ireney ?

Name the types of chromosames classified based on the position of centromere.

13. ffiwe Apener 5 HULEESD SLOEET Wraney 7

What are the parameters which control water potential ?

14. mafl 2 fEan srémmred eremar ?
What is Apical dominance ?

fley - 3 / SECTION - 3

@O0 : arensuGuignd epengy efamdaenim e weallssen. efamr sray 19 -&@
s Lmuwns éflen_walldaad, 3x3=9

Note : Answer any three questions, Question No. 19 is Compulsory,
18. Lgrens Ceuflseflen (paflugsiusag aupga.

Write the importance of Mycorrhizae,

16. graupd Clsrglnder ppenm euensLILTLEH (pesmser wraney 7

What are the three types of Taxonomic classification ?



7 6027 |
17, ymdGend QasQemem Ve | ilaeld gy ppamlanaar arapss.

List out any thiee fiumctions of Epidermal Tissue System,

18. smADISLOLEGD eauphal e i@ GeCuurear Camunfad Lrma 7

Write the differences between Sap wood and Heart wood.

19. esurgdun wgsilou Uiyl dr odadss.

Describe Cyathium inflorescence with neat diagram.

My - 4 / SECTION - 4
GI0Y : Simengsy lamsseriEn el sms. 2x5=10

Note : Answer all the questions.

20. (=) es CLrensaflan eurpeilud eflenaraser wreney 7
SIEVEVF
(<) Aenenésraadevaller L faonsmar cripgs.

(a) Write the Physiological effects of Cytokinins,
OR

(b} Write the schematic representation of Glycolysis.

21. (&) pragédsddt pamaemnlient ULD aerTEsl Urshismar sletdaayb.
S0V

(&) urdlgafld ushsamilsgien agaub saldgeb umipss oo smayfpmur 2
eang eflenleowr HumuiILGés s,

(a) Draw the ultrastructure of a plant ccll and explain its parts,
OR

(b) Do you think shape of chloraplast is unique for algae. Justify your answer.

E [ Splys / Tum over
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u@E - 1 (p_A-efeuisfliued) / PART - II (BIO-ZOOLOGY)
(08l Quemaen : 35) / (Marks : 35)

fifley - 1 / SECTION - 1

@)Eﬂuu S| SIOMGS| mﬁh\nln'c%m%d;gﬁl}: alenLwellasa ). 8x1:

(W) Llar@ésiin Qe wnpy o safid Baab ghysnLw sllepLrw>
(Cann Ty v . 2, . I it i
CHRHIRBESS @i Ger el @emean b Gsigg aT(EML-
Note : () Answer all the questions.

(i) Choose the most appropriatc answer from the given four alternatives

and write the oplion cade and the corresponding answer.
1. erflaider aliugd sipss smasmars Aaualon Waepssons wrpnéng ?
(=) Baeuled v (<) GeellliLenn Feiay
(8) eraulLé @pasd () sriten 2 miy
Which structure in the ear converts pressure waves to action potentials ?

{a) Oval window (b} Tympanic membrane

(e] Semicircular canal {d) Organ of Corti
2. Quiemasls s sfs carafsanste Apflamismars Aarare e ulfser

(1) 2 &GAGuTe@UTbEE (<) wéflaar

(&) Yepemssar (/) upeneugar

Which of the following have the highest number of species in nature ?
{a) Angiosperms (b) Insects

(c] Fungi (d) Birds

3.  esrréedan 2 musHsE Camaiu@ib gafl ot
(1) sraélb (<) Camgub (®) =AGwmgen () Quriirdlwuw
__is required for the formation of thyroxine.

(a) Calcium (b) Sodium (c)] Todine (d) Potassium
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gesadl gy DLEIENAL,
(eot) 2halo Guimens [ aer (<) Benas Qlsdaar
(@) @lbGurens Raer () sCaras_ Baer

Muscles are formed by .
(a) Ostecocytes (b) Myocytes

(¢} Lymphocytes (d) Leucocytes

sareg)r cugew TASSwsear apadws Laf :

(1) urgisTLY () STUIY

(@) »-Depsisd (r) (<) wpmd (@)
The main function of cuboidal epithelium is :

(a) Protection {h] Secretion

(c) Absarption (d) Both (b) and (c)

Qarpliy Asfwrangder g Lig. :
(1) eréeasd afGu ol drigsd (&) Ur@wworga
(@) 2gCure fassefid Gabliy (F) Qprfl Qawdur®

First step in digestion of fat is :
(a) Absorption by lacleals (b} Emulsification

(c) Storage in adipose tissue (d) Enzyme action

[ miys / Turn over
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T QUL G x - . S . . - ! .
MG w0l te. weim jpeflér ALy Lguner Hem@Ld@id sramiufag

(=) 12 wad 13 ey o der sam_isald

(%) 13 Wwsd 14 ey o drar sETL sl

(@) 14 W56 16 wenr o drer sam_usald

(FF) 14 & 17 cueny o drer SeRT_EISaMD

?l‘hc clitellum, a distinct part in the body of earthworm Lampito Mauritii, 1S found
m

(a) Segments 12 - 13

(b) Segments 13 - 14

{c) Segments 14 - 16

(d) Segments 14 - 17

Bsusde ‘LU gal gL RFng.
(1) eors 54T eumdeyser wpBasned
(<) < fs@Car - Heudnfégant surdajsar apHagra

(@) <féEGar Ooen Asgaont ardeysar SpliLgrd
() <ieoré ebdly cumdalset SApLLTaD

Dub sound of heart is caused by :

(a) closure of semi-lunar valves.

(b] closure of atrio-ventricular valves.

(c) opening of atrio-ventricular valvcs.

(d) opening of semi-lunar valves.
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Ofley - 2 / SECTION - 2

ey : e Gug mnenE; eflamdsende allawaflsaa)b.

Note :

Q.

10,

11.

12.

13.

14,

Answer any four questions.
0, 5 - 1 ; " "
wena) e Lh@ifew, e imeng oL p@uLer UIHS.

Compare Schizocoelom with enterococlom,

'_"\_’! . " 5 il i
gamar Jressdler u@ANQunmlsdr wree ?

What are the components of blood of (rog ?

argdlen safll udTyser apss.

Write the peculiar characters of Duck.

fpPland Carlurlwe smiae Lriedeflan L@ wrgl ?

What is the role of Charles Darwin in relation to concept of species ?

Q135 Qadraauanssaldr amasmas GHILYES.
List out the different types of WBC.

2 L& sufemal Cuansh undl awss.

Comment on Homeostasis.

9fley - 3 / SECTION - 3

43x2=8

@ity : aepauCuah epeny elamasEnses eloLwdésa)b. efam srar 19 -&@

&L Lmuwnes eflenLweflEsab.

Note :  Answer any three questions, Question No. 19 is Compulsory.

15.

16.

rymyE swiki o el w eflondldr uarysmer arHEGEETLHL laTéEs.

3x3=9

Describe the characteristic features of bi-radially symmetrical animal with

example.

saumenar QuimmeTtsny pédusgausoss @HIARs.

Write the economic importance of Frog.

[ S(sUys / Turn over



